Vickers®

VICKERS

Rev. 04/99 690-C



s

JR B B (K BT 1 T s -
T M AT AE UMK LA R ST
2, R Bk RE . IX LU
AR R AR o

HXx

ARG L
BRI

WL .

2
SAE4-1L ........
THAREE

W RALE CRAITIAD

BRI o

FIRATERIE, BRI AT

il

FERFEH

KEEH
IR

BB L

R

PR

it A AR L

FAMEIIIER oo

.............................................................................. 5



0.83 bar (12 psi) 210bar (3000 Psi),
0.34 kg (12 0z)

7.6 L/imin (2 USgpm)

7.6 L/min(2 USgpm)

mm( )

YAT }_ _ | - “p

N N

NG J "
— 762(3.00) ™ 25,4 (1.00)

A"
ABT-03-10 3/8 NPTF
ABS-12-10 .0720-16 UNF-2B




345 bar (5000 psig)

-40 149°C
4,26 kg (1.125 Ib)
mm ( )
[—— 66,7 (2.625) ——*+
33,3 (1.312)
| ) DSB-1-03-10
— | ,f:w -
] /5\\% -
— 06,7 (0.265)
2
28,6 (1.125) a8 . .5625-18UNF-2B thd
4,76 (.1875) - 0.375 3
—’I Ball X
TR\ (N _ i
N N\ * I D — T
/ 39,7
(T (1.562) N 44,4
i T + —  (1.750)
[ j 19 (.750)
19 (.750) -——I— 19 (.750)
38,1 (1.500)
/
33 ¢St (150 SUS) bkl
2,07 (30)
1,72 (25) /’
. 1,38(20) /
Z )4
= 1,03(15
3 4 4 C
' 069(10) /
/
0,34 (5) / yd

3.8

“ @ 6 @ 6

— L/min (USgpm)

76 11,4 151 189 22,7 26.5

® @




SAE

BK255654 4 1/4-20 x 3.50” 255654
BK255657 4 1/4-20 x 6” 255657
BK255659 4 1/4-20 x 8.50” 255659
BK255664 4 1/4-20 x 6.50” 255664
BK255667 4 1/4-20 x 77 255667
BK255668 6 1/2-13 x 8.75” 255668
BK255669 6 1/2-13 x 10" 255669
BK255670 6 1/2-13 x 9.50” 255670
BK255671 6 1/2-13 x 9.25” 255671
BK255674 4 1/4-20 x 9" 255674
BK255675 4 1/4-20 x 9.50” 255675
BK255676 6 1/2-13 x 12.50" 255676
BK255677 6 1/2-13 x 12.75" 255677
BK255678 6 1/2-13 x 13" 255678
BK255679 6 1/2-13 x 13.50” 255679
BK255689 4 1/4-20 x 4" 255689
BK255691 6 1/2-13 x 6" 255691
BK255692 6 1/2-13 x 6.50” 255692
BK255693 6 1/2-13 x 5.25” 255693
BK464125M 4 M5 x 70 mm 464125
BK466834M 4 M5 x 20 mm 466834
BK466836M 4 M5 x 60 mm 466836
BK466837M 4 M5 x 80 mm 466837
BK466838M 4 M5 x 90 mm 466838
BK466839M 4 M5 x 100 mm 466839
BK466840M 4 M5 x 110 mm 466840
BK466841M 4 M5 x 120 mm 466841
BK466842M 4 M5 x 130 mm 466842
BK466843M 4 M5 x 140 mm 466843
BK466844M 4 M5 x 150 mm 466844
BK466845M 4 M5 x 160 mm 466845
BK466846M 4 M5 x 170 mm 466846
BK466847 4 10-24 x .75” 466847
BK466849 4 10-24 x 2.375” 466849
BK466850 4 10-24 x 3.125” 466850
BK466851 4 10-24 x 3.50” 466851
BK466852 4 10-24 x 3.938" 466852




BK466853 4 10-24 x 4.312 466853
BK466854 Z 10-24 x 4.75" 466854
BK466855 Z 10-24 x5.125" 466855
BKA66856 7] 10-24 X 5.50" 466856
BK466857 Z 10-24 X 5.937" 466857
BK466858 Z 10-24 X 6.312" 466858
BKA466859 4 10-24 X 6.688" 466859
/8-18 x 1.75"
BK590724 4 f e 500724
BK590730 4 10-24 X 5.375" 590730
BK688701 Z 5/16-18 x 1.25" 688701
BK688713 4 5/16-18 x 2.25" 688713
BKCGAMO06608 | 4 5/8-11 X 3.50" 255608
BKCGAM10609 |4 3/4-10 X 2.50" 255609
BKCGV06603 6 1213 x 3" 255603
BKCGV815614 |4 5/8-11 x 2.25" 255614
BKCG03602 4 1213 x 2" 255602
BKCG06600 4 5/8-11 x 3.25" 255600
BKCG06604 4 5/8-11 x 2.75" 255604
2 5/8-11 x 2.75"
BKCG06605 2 e 255605
BKCG10601 4 3410 X & 255601
BKCG10606 6 3/4-10 X 2.25” 255606
BKCG10616 4 3/4-10 X 3.50" 255616
2 $6250-11 x 2.250"
BKCG506610 2 T 255610
2 7500-10 X 3"
BKCG510611 2 TS, 255611
BKCG805619 4 3/8-16 x 1.75" 255619
BKCG815612 z 5/8-11 X 1.75" 255612
BKCG825613 4 3410 X 2.75" 255613
BKCG825615 Z 3/4-10 X 3.50" 255615
BKCPG06607 4 3/8-16 x 4.25” 255607
BKCP06684 Z 12-13 X 3.75" 255684
BKCP2242680 |6 1/2-13 X 3.50" 255680
BKDGAM301651 |4 1/4-20 x 1.25" 255651
BKDGAM301652M | 4 M6 x 30 mm 255652
BKDGAM521766 | 2 5/16-18 x 1.50" 255696
BKDGCPFNO1673 |4 1/4-20 X 8.75" 255673
BKDGCRFNO01672 | 4 1/4-20 X 8.25" 255672
BKDGFNL694 Z 10-24 X 2.75" 255694
BKDGENO1624 |4 1/4-20 x 4.50" 255624
BKDGFNO1637 |4 1/4-20 X 3.25" 255637
BKDGFENPCO01665 |4 1/4-20 X 6.25" 255665




BKDGH06618 6 .500-13UNC x3.00” 255618
BKDGH8658M 6 M12 x 80 mm 255658
BKDGN50709M 4 M20 x 80 mm 255657
BKDGPCH8656 6 1/2-13 x 7.50” 255656
BKDNG16700 4 5/16-18 x 1.50” 590700
BKDNG16701M 4 M8 x 40 mm 590701
BKDNG50708 4 3/4-10 x 3.00” 590708
BKDPNG25704 4 1/2-13 x 1.50” 590704
BKDPNG40707M 4 M20 x 60 mm 590707
BKDGXFN01666 4 1/4-20 x 5.75" 255666
BKDG3698 4 #10-24 x 2.00” 255698
BKDG3699M 4 M5 x 50 mm 255699
4 3/8-16 x 1.75"
BKDG04650 > 1/4-20 x 1.50" 255650
BKDG06622 4 1/2-13 x 2.50" 255622
BKDG06635 6 1/2-13 x 2.50" 255635
BKDG06689 4 .250-20 x 4.00” 255689
BKDG3699M 4 M5 x 50 mm 255699
BKDG8655M 6 M12 x 65 mm 255655
BKDG10623 6 3/4-10 x 3.00” 255623
BKDG10630 4 3/4-10 x 3.00" 255630
BKDG10636 6 3/4-10 x 2.75" 255636
BKDG1506627 4 3/8-16 x 3.75” 255627
BKDNG63710 4 1.250-7 x 3.50” 590710
BKDNG63711M 4 M30 x 90 mm 590711
BKDPNG25705M 4 M12 x 40 mm 590705
BKFGEO06649 4 5/8-11 x 3.75” 255649
BKFCGT02644 4 5/16-18 x 3.00” 255644
BKFG03641 4 3/8-16 x 2.50” 255641
BKFG03645 4 3/8-16 x 3.00” 255645
BKFG06642 4 5/8-11 x 4.00” 255642
BKFG06646 4 5/8-11 x 4.00” 255646
BKFG10643 4 3/4-10 x 4.75” 255643
BKFG10647 4 3/4-10 x 4.50” 255647
BKG815612 4 5/8-11 x 1.75” 255612
BKMODG617 4 10-24 x 1.75" 255617
BKPNG16702 4 5/16-18 x 2.00” 590702
BKPNG16703M 4 M8 x 50 mm 590703
BKRX03660 4 3/8-16 x 2.75" 255660
BKRX06661 4 3/8-16 x 3.25” 255661
BKRX10662 6 3/8-16 x 4.00" 255662
BKSA4628 4 5/16-18 x 2.75" 255628




BKSC4629 4 1/4-20 X 2.25' 255629
BKSD403631 4 5/16-18 x 2.00" 255631
BKSE3638 4 1/4-20 X 1.00° 255638
BKSG02681 2 1/4-20 X 2.00" 255681
BKSF4648 4 1/4-20 x 3.00" 255648
BKSVGM903639 4 5/16-18 x 1.75" 255639
BKUR06682 2 ey 255682
BKURO06683 z Jox3x 255683
BKXDG01626 4 1/4-20 X 3.75" 255626
BKXDG01634 4 1/4-20 x 2.50" 255634
BKXLI03663 4 5/16-18 x 3.00" 255663




SAE 4

SAE

FL1-24-249-LP-10
34,5 bar, 500 psi

210 bar (3000 psi)

_ o
ﬂ_Ié_/__Jl b
- TTITTTT )
W_\_j_l\mg '
i 0s |
| [
JEENEEE
g !
I NN
____l T[T )
L N —»-— L
A
SAE NPTF
SAE NPTF
B c D E F G H J L N
1.0625-12
FL1-6-125-10 | - (3/4 tube) |~ 523 |g046 |650 (239 (478 (112 |224 |190 [135 |318
6010 = o4 209 (2.56) | (0.94) | (1.88) | (0.44) | (0.88) | (0.75) | (53) | (1.25)
1.3125-12
FL1-8-165-10 | - (1" tube) |~ 587 |gg46 |0698 [262 (524 (131 [262 |254 |168 |350
808P 10 = . (2.31) 2.75) | (1.03) | (2.06) | (0.52) | (1.03) | (1.00) | (0.66) | (1.38)
1.625-12
FL1-10-20S-10 | — 5151’4 - 731 | 74644 |792 294 |587 [151 |302 |318 |213 |381
ube) (2.88) (3.12) | (L.16) | (2.31) | (0.59) | (1.19) | (1.25) | (0.84) | (1.50)
FL1-10-10P-10 | — 1-1/4
1.875-12
FL1-12-24S-10 | - (1[)1’2 - 826 |1043 |937 |350 |698 |178 |357 |381 |185 |41
tube) (3.25) (3.69) | (1.38) | (2.75) | (0.70 | (1.41) | (1.50) | (0.73) | (1.62)
FL1-12-12P-10 |- 1172
96.9 101,6 | 389 |77.8 |214 |429 |508 |185 |4L1
FL1-16-16P-10 | - 2 @s1) | Y213 | ao00) | (153) | (3.06) | (0.84) | (1.69) | (2.00) | (0.73) | (1.62)
1087 | ., .. |1143 |444 |889 |254 |508 |635 |218 |508
FL1-20-20P-10 |- 212 1408 | V213 | (450) | (1.75) | (3.50) | (1.00) | (2.00) | (2.50) | (0.86) | (2.00)
1311 | o0, | 1349 |532 |1064 31,0 |619 |762 |249 |57.2
FL1-24-24P-10 |- 3 5.16) | 81 | (531) | (2.09) | (4.19) | (1.22) | (2.44) | (3.00) | (0.98) | (2.25)
131,1 1349 |532 |1064 |31,0 |619 |762 |185 |57.2
FL1-24-24P-LP-10 | - 3 .16) |81 | (531) | (2.09) | (4.19) | (1.22) | (2.44) | (3.00) | (0.73) | (2.25)




SAE 4

SAE 4 ( 34,5 bar
500 psi)
d 210 bar (3000 psi)

FL1-24-24W-LP-10
FL1-28-28W-10
FL1-32-32W-10

mm ( )
o
/
- ) @ (.
S - —
IS T
W@\
[/ | | .
D F \ U T 0K |
N\ 74 )=
\_/
Gile s
NS —
o ]
— G |[-—
— H l—
B -
A B c D E F G H J K L M N
, 58,7 698 |262 |524 |131 |262 |254 338 |191 |157 |224)
FL1-8-08W-10 ! 231 |38 | 575 [(103) |@206) |(052) |@03) |(L00) |(1.33) |(©0.75) |(62) |(88)
. 731 792 |204 |587 |151 |302 |318 |426 |238 |175 |381
FLI-10-10W-10 [ 1-1/4" | 5 gy [ 7614 1 3oy | (116) | (2.31) |(0.59) |(1.19) |(1.25) |(1.68) |(0.94) |(0.69) |(1.50)
. | 826 . 1937 350 698 |178 |357 |381 489 |226 |191) |302
FLI-12-12W-10 | 1-12" | (355 | 12-13 | (350) |(1.38) |(2.75) |(0.70 |(141) |(150) |(1.93) |(0.89) |(0.75) |(L.19)
, 96.9 1016 |389 |77.8 |214 |429 |508 |612 |242) |222 |350
FL1-16-16W-10 2 @e1 Y213 1 a00) |(1.53) |3.06) | (084 |69 |(200) |(241) |95 |©88) |(1.39)
. | 108,7 . |1143 |444 889 |254 |508 |635 |739 |274 |251 |444
FL1-20-20W-10 | 2-12" | () o5y | 12-13 | 450y | (1.75) | (350) | (L.00) |(2.00) |(250) |(2.91) |(1.08) |(1.00) |(L.75)
\ 131,1 . 1349 [s32 |1064 |30 |619 |762 |902 |242 |318 |540
FL1-24-24W-10 |3 G16) |8 | 531) | (209 |@19) |22 |@44) |(3.00) | (355 |95 |(125 |(2.12)
\ 131,1 . |1349 [s32 |1064 |310 |619 |762 |92 |178 |318 |540
FL1-24-24W-LP-10 | 3 G16) | V8N (531 [(209) |@19) |(122) |(@44) |(@00) | (355 |(©0.70) |@25) |(2.12)
. |139,7 . |1524 |e04 |1206 |350 |698 |889 |1029 |289 |302 |366
FL1-28-28W-10 | 3-12" | 550y 5811 | (500) |(238) |(4.75) |(L.38) |(2.75) |(350) |(4.05) |(1.14) |(1.19) |(L44)
\ 152,4 . |1620 |e50 [1300 |389 |777 |1016 |1163 |274 |318 |381
FL1-32-32W-10 |4 ©00) |28 | 638) |(256) |(B12) |(1.53) |(3.06) |(4.00) |(258) |(1.08) |(1.25) |(1.50)

10



210 bar (3000 psi)

(
H4)
A%
Zzu:{
mm( )
~ A~ ANAEReNE
— B —
.
c . c
|~ '@_ N
L —l~
:T:/ \ J
4@3.,___( A
\\ / B T T
Yy I
OO W
N
} (T (L)
T < F
F
OE
, oep
¢ |
| ‘<<< |
-n /.
(Inch) A B c D E F G H J 3
1-1/2 FL-12-PS-20 |- 1016 (508 (3493 | 0., 4923 |605 |445 (224 |12 |-
> FL16PS20 |- (4.00) | (2.00) |(1.375) 11 1@ess) |(238) |(175) |(88) |, -
2-1/2 FL-20-PS-20 - 2-12 |-
1397 (699 |4763 |00 |7463 792 |572 |333
3 FL-24-PS-20 | FLC-24-PS-20 | (5.50) | (2.75) | (1.875) (2.938) |[(3.12) |(2.25) | (1.31) |3 (1113-3)

11



210 bar

, g (3000 psi)
il
Bl
?;/}XL
mm ( )
~ N/ (0 (T
- B 274
° ~c Y7
| | T | T
\j___ | CD_ . , % hN
1 J l |
— é ) . .
J g
C—L—bq—-’——c —C
J_
(D (T
T T:% ¢ N Pl
F G _| é
! OE
| A %
R .
- H
/o
(Inch) A B c D E F G H J M N JJ
1-12 | FL-12-PL-20 | - 101,6 | 50,8 | 34,93 4923 |919 |762 |224 [1V2|381 [1300 |~
5 FL16-PL20 | - 4.00) | (2.00) | (1.375) | 81 | (1.938) | (3.62) | (3.00) | (88) |, | (1.50)|(5.12) |_
2-1/2 | FL-20-PL-20 |- 2-1/2 -
1397 | 69,9 47,63 |, o |74,63 | 1240 | 1016 |333 50,8 |180,8
3 _ FLC-24-PL-20 | (6.50) | (2.75) | (1.875) (2.938) | (4.88) | (4.00) | (1.31) | 3 (2.00) | (7.12) (lﬁ,zﬁ)

12



210 bar(3000 psi) :

) ( , FL-16-WS-HP-10
% FL-20-WS-HP-20
FL-24-WS-HP-20
345 bar,
5000 psi)
mm
-~ A—> (L1 1)
le— B » T
Cre==1C
T | :
o I l
N
DD l RuSIRsuY
c— N [ M/ y
N
$ | _i SO
E r | L
G 0E
|
— H D -
(Inch) A B D E F
76,2 38,1 25,40 31,75 48,5
1-1/4 FL-10-WS-20 FLC-10-WS-20 (3.00) | (1.50) | (1.000) 1213 | (1.250) (1.91)
1-1/2 FL-12-WS-20 FLC-12-WS-20 412'68888
101,6 50,8 34,93 AL 57,7
2 FL-16-WS-20 FLC-16-WS-20 (4.00) (2.00) (1.375) 49,23 (2.27)
FL-16-WS-HP-20 * (1.938)
o1/ FL-20-WS-20 - 66,68
FL-20-WS-HP-20 * - 139,7 69.9 47,63 s (2.625) 75.7
FL-24-WS-20 (5.50) (2.75) (1.875) i 74,63 (2.98)
3 FL-24-WS-HP-20 * FLC-24-WS-20 (2.938)
(Inch) G H K L 33
38,1 16,8 42,57/42,70 30,0 73,2
1-1/4 FL-10-WS-20 FLC-10-WS-20 (1.50) (65) (1.676/1.681) 1.18) (2.68)
48,67/48,79
1-1/2 FL-12-WS-20 FLC-12-WS-20 : ;
44,5 22.4 (1.916/1.921) 33,3 82,6
FL-16-WS-20 (1.75) (-88) 61,14/61,26 (1.31) (3.25)
2 FL-16-WS-HP-20 * FLC-16-WS-20 (2.407/2.412)
512 FL-20-WS-20 - 73,84/73,96 44,5 ~
FL-20-WS-HP-20 * - 57.2 333 (2.907/2.912) (1.75)
FL-24-WS-20 (2.25) (1.31) 89,81/89,94 49,0 111,3
3 FL-24-WS-HP-20 * FLC-24-WS-20 (3.536/3.541) (1.93) | (4.39)

13



210 bar

(3000 psi)
mm
N (I (T]
- | |- |l B—
—c I
|
Jany T
7 B . 2
\l_—l | _ A
TT 4 !
OO} )
' g
C—L——-—-l— c ¢
K-
F o § v
I 1
| M
J /
_ H
Ly
R
(inch) A B C D E F G
76,2 381 | 2540 31,75 671 |57.2
1-1/4 FL-10-WL-30 FLC-10-WL-30 (3.00) | (1.50) |(1.000) |1/2-13 | (1.250) |(2.64) |(2.25)
1-1/2 FL-12-WL-20 FLC-12-WL-20 101,6 50,8 34,93 5/5-11 49,23 89,4 76,2
2 FL-16-WL-20 FLC-16-WL-20 (4.00) (2.00) | (1.379) (1.938) (3.52) | (3.00)
2-1/2 - FLC-20-WL-20 201|100
139,7 69,9 47,63 2189 74,63 (4.73) | (4.00)
(5.50) (2.75) (1.875) : (2.938) 132,8 114,3
3 FL-24-WL-30 FLC-24-WS-30 Gon |ate
R~F
(inch) H K L M N 3
16,8 42,57/42,70 30,0 28,4 1046 | 635
1-1/4 FL-10-WL-30 FLC-10-WL-30 (.66) (1.676/1.681) @18 @12 |@12) | (250
48,67/48,79
1172 FL-12-WL-20 FLC-12-WL-20 67148,
22,4 (1.916/1.921) 33,3 38,1 1300 | 76,2
(.88) 61,14/61,26 (1.31) (1.50) (5.12) (3.00)
2 FL-16-WL-20 FLC-16-WL-20 o dona12)
73,84/73,96 44,5 50,8 104,6
2172 - FLC-20-WL-20 333 (2.907/2.912) @75  |@00) |1g08 |@12)
(1.31) 89,81/89,94 49,0 57,2 (7.12) 111,3
3 FL-24-WL-30 FLC-24-WS-30 (3.536/3.541) 193 | (225 (4.38)

14



(  279625)2

SAE-J 444 2 A B C ( 214794 ) SAE
A B C D
mm )
R — UNC-2B thread
4 )
T
0J-
C
0 P +0,05 (.002) ]
A — —H
T —0S—4
B
\ 1N
L) il C T L) H
F—<|—>l G ' —{L M N
B e
K >
| D
()
A B C D E F G H
FB-A-10 | 1349 (5.31) | 69,9 (2.75) | 152,4 (6.00) | 76,2 (3.00) | 127 (5.00) | 36,6 (L.44) | 63,5(2.50) | 12,7 (.50)
FB-B-10 |180,8 (7.12) | 92,2 (3.63) | 1715 (6.75) | 85,8 (3.38) | 146 (5.75) | 36,6 (1.44) | 73,2(2.88) | 12,7 (.50)
FB-C-10 |215,9 (8.50) | 109,5 (4.31) | 265,2 (10.44) | 132,6 (5.22) | 235 (9.25) | 50,8 (2.00) | 1176 (4.63) | 15,7 (.62)
J K L M N P Q R S
FB-A-10 |106,4 (4.19) | 96 (3.78) | 15 (.59) | 50,8 (2.00) | 12,7 (50) | 82,63 (3.253) | 17,5 (.69) | .38-16 | 11,2 (.44)
FB-B-10 |146 (5.75) | 95,8 (3.77) | 15(.59) | 50,8 (2.00) | 12,7 (.50) | 101,68 (4.003) | 17,3 (:68) | .50-13 | 17,3 (68)
FB-C-10 |181,1(7.13) | 131,6 (5.18) | 19 (.75) | 76,2 (3.00) | 17,3 (.68) | 127,08 (5.003) | 19 (.75) | .62-11 | 17,3 (.68)

15



— 5000 psig, 1/4-3/4 NPTF

345 bar (5000 psig).

o ) 1379 bar (20,000 psig).
T -40°C~ 149 C.
ﬁ \7&
Ji53
" ﬁ\
mm ( ) J E_>‘
DTNG2 [ (T ] DTNA4
‘ E ‘ T T
: : oJ [ G-
: B Y
OH
e 7T e ~[
[ J
T T T k@ —
l | f G |
- - OF
= *
N J
— C— _ _ i C
«——— D——» < [ F»
M D
DTNA4
A B C E F G H J
1158 |325 46,0 25,4 26,9 15,7
DTNA4-02-PM-10 | 1/4 : ' ' ' ’ '
(456) | (128) |(181) |gog (1.00) |(106) |g, (62) |gg¢
DTNA4-03-PM-10 | 3/8 136,7 |38,9 54,9 (2.50) |31,8 44,5 (:38) 19,1 (:22)
DTNA4-04-PM-10 1/2 (5.38) | (1.53) |(2.16) (1.25) | (1.79) (.75)
180,8 | 46,7 69,9 108,0 |445 49,3 22,4 38,1 19,1
DTNA4-06-PM-10 T | 3/4 712) |84 |(275) |@25 |75 |(194) |(88) |(150) |(75)
DTNG2
A B C D E F G H
88,9 26,2 52,3 22,4 15,7
DTNG2-02-PM-10 1/4 ' ’ ’ ' '
(3.50) (103) |(2068) |gag (.88) 07 (.62) 5.6
DTNG2-03-PM-10 3/8 91.9 35,1 69.9 (250) |284 (:38) 19,1 (.22)
DTNG2-04-PM-10 1/2 (3.62) (1.38) | (2.79) (1.12) (.75)
131,8 46,0 91,9 108,0 [38,1 22,4 38,1 19,1
DTNG2-06-PM-10T | 3/4 (5.19) | (1L81) |(3.62) |(4.25) |(1.50) |(88) (150) | (.75)
53 2 53 591723

16




— 3000 psig, 1/4 NPTF

210 bar (3000 psig)
552 bar (8000 psig)
F W -40° C  149°C,
& 1E A
> Py
* ( )
0,34 (5) 4,16 (1.1)
0,69 (10) 5,68 (1.5)
1,38 (20) 8,33 (2.2)
2.76 (40) 11,73 (3.1)
4,14 (60) 14,01 (3.7)
5,52 (80) 16,28 (4.3)
mm(C )
DTNAS3-02-PM-10 DTNS3-02-PM-10
Part 591702 Part 591703
031,8
’* (01.25) 031,8
—{ ’* (01.25)
52,3 T
(2.06) 579
| ,
(2.28)
17,4 (.687) Hex. f— _— 50-27 thd.
8,7 (.343) —¢ / 8,7 (.343) | — .50—27 thd.
— -~ 1
' ) —— 1/4” NPTF
R ——
|
&g/ 24,4 —\ } B ]
: (1.0) | 1 \\

*— 1/4” NPTF

17

1/4" NPTF

—> 254 (1.0)

~———— 50,8 (2.0)—*>




3k Pt ( )
T s .
i, J A X 26 8 T A
i} R
P> =~
%5
210 bar (3000 psig).
mmGE )
C > -
0
(@@== NEe) C
B B
_;_
g i
£ A B ( ) C kg (Ib)
1/4 DTPA2-02-10 |-
7,93 (.312) 39,6 (1.56) |[149,4 (5.88) |82,6 (3.25) 1,47 (3.25)
3/8 DTPA2-03-10 |-
1/2 9,53 (.375) DTPA2-04-10 |- 47,8(1.88) |162,1(6.38) |101,6 (4.00) |2,38(5.25)
3/4 14,29 (.562) DTPA2-06-10 |- 55,6 (2.19) |184,2 (7.25) 1907 (475 3,74 (8.25)
L 15,88 (.625) - DTNA2-08-10 |50,8 (2.00) |193,8 (7.63) 7 (479) 3,18 (7.00)
19,05 (.750) DTPA2-08-10 |- 63,5 (2.50) |209,6 (8.25) |146,1(5.75) |5,44 (12.00)
1-1/4 25,40 (1.000) | DTPA2-10-10 |- 76,2 (3.00) | 231,9(9.13) |177,8(7.00) |8,16 (18.00)
1-1/2 31,75 (1.250) | DTPA2-12-10 |- 85,9 (3.38) |260,4 (10.25) |203,2(8.00) |12,93(28.50)

18




mm GE )

5
B A B C( ) |D kg (Ib)

1/4 7,93 DTPG2-02-10 |- 79,5 23,9 149,4 82,6 1.70
3/8 (:312) DTPG2-03-10 |- (3.13) (:94) (5.88) (3.25) (3.75)
v 3= [oweroin |- w2 En M e 2
3/4 %‘;'6229) DTPG2-06-10 | - 111,3 (4.38) ?17.2?7) (17?(;'05) 1207 ?é.z205)
E omezoer0 W88 WL s |4 [
1905 Jorwozosi0 |- o [ms  |mes waa o

e |58 orerion |- m2a [we  mr me o
102 |Gy |DTPGZI210 |- 679 |eey  |aom o0 |30
- L R A A

19



s

g 189 L/min (50 USgpm), 2: 38 L/min (10 USgpm),
- 381 Btu/min(9 hp).
52°C (125° F) 24° C (75° F) 52° C (125° F).
- 24° C (75°F) 7ef
*k OCA-130-30 nJ
g5 350 Btu
— iy 38 Limin (10 USgpm),
B . ;
W75 52° C (125° F) - 24° C (75° F),
« ) I FCAR OCA-174-30
A
E ocal3  HI400 B
57 L/min
(15 Usgpm),
189 L/min
(50 USgpm)
- OCA-174-30
34 L/min (9 USgpm)
1.37, 1.37 %350 Btu = 480 Btus .
381 Btu/min 38 L/min (10 USgpm)
20,7 bar (300 psi),
204°C
40°c = 1.05, 1.05x400 = 420 Btu,
bl 52°C (125°F) 381Btu/min
fif
= 1
52°C (125° F) 25%
LA
1: 189 L/min b1 I
(50 USgpm) , TR R R, &
381 Btu/min (9 hp). W] F) 538 s g 3
24°C (75°F). ik TR Hi
52° C (125° F).
Al
Cooler Model | hp
OCA-24-30 | 1/15 L2 &
1550
OCA-55-30 1/12 115
60
OCA-130-30
1/6
OCA-174-30 1075 ‘
230/460 - g
OCA-360-30 1/2

20



Ll

Hic
4k
ik
iy
WUk

13~79°C
(55 ~ 175° F).
g 93 C(200° F)
F13:3, 4 bar (50 psi) 8 A/120 Vac
5.1 A/ 240 Vac

BE OCBW-2-20)

JefE
s
%

Nrag =X
T,

&

®,
B #

¥ o
e %
i

M AE

( OCTC-1-21) #ifg—
fi%
& S
A -16°C  -12°C
(3~10°F)

21



bar(psi)

(

32 ¢St (150 SUS)

“

( )
1200 | | | )
OCA-360-30 /
94,6 L/min (25 USgpm) /
1000 /
800 /
= / OCA-174-30
< 600 / 68,1 L/min (18 USgpm)
; / rd OCA-130-30
400 / _—"1 56.8 Limin (15 USgpm)
200 / — OCA-55-30
26,5 L/min (7 USgpm)
/
%// || OCA-24-30
— 1 T 11,4 L/min (3 USgpm)
18 -12 -7 -1 4 10 16 21
(0) (10) (20) (30) (40) (50) (60) (70)
= -
Vs. Vs.
1,24 (18) 1.8 . .
OCA-24-30
OCA-130-30 OCA-174-30 /
1,10 (16) 1.6
/ OCA-55-30
0,96 (14) 14 e OCA-130-30
£~ OCA-174-30
//_
0,83 (12) OCA-55-30 12
/ / / 7 / OCA-360-30
0,69 (10) / / / 10 /| /
OCA-360-30 / / //
0,55 (8) / 0.8 // //
0,41 (6) OCA'24/7 // 0.6 ( ” /
0,28 (4) //, 0.4
014 (2) / 0.2
0 378 757 1136 1514 1893 2271 0 378 757 1136 1514 1893 2271
(10) (20) (30)  (40) (50)  (60) (10) (20) (30)  (40)  (50) (60)

L/min (usgpm)

22

L/min (usgpm)



Btu/min

A BREHERRD
32 ¢St (150 SUS)

1200 - - -
OCA-360-30
45,4 L/min (12 USgpm)
1000 /’
800 v
/ OCA-174-30
600 34,1 L/min (9 USgpm)
/ _—"| oca-130-30
400 / 26,5 L/min (7 USgpm)
/ /
P4 1T OCA-55-30
200 v —— 11,4 L/min (3 USgpm)
-
%//// OCA-24-30
3,8 L/min (1 USgpm)
-18 -12 -7 -1 4 10 16 21
(0) (10) (20) (30) (40) (50) (60) (70)
Vs.
3.0
25 / OCA-24-30
2.0
/ OCA-55-30
1.5 :
/ / OCA-130-30  OCA-174-30
1.0 4/ OCA-360-30

94,6
(25)

0 18,9
®)

37,8
(10)

56,8 75,7
15) (20)

L/min (usgpm)

23

VS.
30
25 OCA-360-30
& |
20 & OCA-174-30
B OCA-24-30_§ /
& o IS /
15 & /)
N
9) /
10 7
s/ /
7
0 189 37,8 56,8 75,7 94,6
() (10 (15)  (20)  (25)
L/min (usgpm)
108 (500)
2
g’ 86 (400) //
) \l |/
43 (200) ) (/
21 (100)
A
| |
0 0.5 1.0 15 20 2.5 3.0




mm
50-13 UNC MRSk ka4 s .
= L J & 2
| .50 =13 UNC thd.
1 Ri
23,8 (.94) > = F 1 23,8 aH
(:94)
I ]
- 160,2 (6.31)
A le—— C max.
e 41,1 (1.62) > = 26,6—> 44,4 (1.75)
(10.50)
A

18 - B
g

T
o
w
|

(L
:
.

T Y Y

L — Ep— i)
G—? »I ~— 39,6 (1.56) - l—— 39,6 (1.56)

A B c D E F G H K kg (Ib)
OCA-24-30 376,2 300 354,1 233,4 2111 328,7 249,2 24,95

(14.81) |(11.81) |(13.94) |(9.19) [(8.31) |(12.94) 981) |254 |(59)
OCA-55-30 517,7 400,1 333,2 352,6 469,9 53,8 345,9 (1) 34,02

(20.38) | (15.75) (13.12) |(13.88) |(185) |(2.12) |(13.62) (75)
oca-130-30 |81 5999 |5588 |5334 |512,8  |6302 544,6 54,43

(26.81) |(23.62) |(22) (21) (20.19) | (24.81) (21.44) (120)
OCA174.30 |8031 700 6335 | 638 755,7 6447 |318 |6804

(31.62) | (27.56) (24.94) |(25.12) [(29.75) |s56 |(25:38) |(1.25) |(150)
oCA360.30 |1057.1 [9335 [5969 [8666 |892 1009,7 |[(219) |877.8 108,86

(41.62) |(36.75) |(23.5) |(34.12) |(35.12) |(39.75) (34.56) (240)

24



mm

OCTC-1-21
0 22,3 (0.88)
23,8
(.94)
1 *
@ 57,1
(2.25)
y i
50,8 —
(2.00) 508
(2.00)
- & @
K@j
143,0
(563 106,4
(4.19) 55 [:I
(22) ' - 055(0 .22)
l r - '!\\ /‘k/
* '(|/ \|&
T : '” — 0 9,6 (D 38)
23,1(.91) — 9,6 —>| <——(ﬁf 30,1 (1.188)
~

(:38)

un
H.l] ﬂll
+— He

106,4
(4.19)

0127
(0 .50)—>

127,0 (5.0)

25

3/4 NPTF

OCBW-2-20

0134—> r=—

(0.531)

B

129,5
(5.0)



35/0.7 50hp

KK 208 L/min (55 USgpm)
LES 29 (85.F), 50 hp /
m( ) OCW-F-6-F-30
OCW-1-B-30 i (
) 50 hp
208 L/min
P
OCW-S-5-F-30
+
1:
151 L/min (40 USgpm),
25 hp
“ g 29°C( 85. F) 29°C
i

151 L/min 25 hp
/
OCW-S-3-F-30
149 (300°F), 5 4 1
( ) PS
38 L/min (10 USgpm)

bar (psi)

OCW-1-B-30 |14 (200)

OCW-S-2-F-30
2
OCW-S-3-F-30 10 (150
34 (500) (150) 208 L/min 55 USgpm
OCW-S-5-F-30 25 hp
OCW-F-6-F-30 | 28 (400) 35 (95°F)

35  (95F)
29 (85°F) 70%

26



VS.

C %)
70 2,07 (30)
I T I
2:1 OCW-S-5-F-30 o
60— 1:1 0OCW-1-B-30 1,72 (25) 8
/ / rd g #) /¢
" ) P £ 1,38 (20) 5173
/ 4:1 OCW-F-6-F-30 8 5 s/
/ I 1,03 (15) ° f {(,@g/’
40 4 . (,*A'
/ 2:1 OCW-5-3-F-30 S Sod
/ / / 4:1 OCW-S-3-F-30 0,69 (10) oS
&
30 9
/ 034 (5)—f S~ 1o
oo
oY yd
/ 0 18,9 37,8 56,8 75,7 94,6 113,6
- (5) (10) (15) (20) (25) (30)
10 OCW-1 & 2
/[ 11 0cw-s27-30 . . . . . . .
8 V4 0 76 151 227 303 378 454
6 (20) (40) (60) (80) (100) (120)
OCW-3,5&6
2// 111°|CW‘1'B'3|° OCW-1-B-30
0 378 75,7 1136 1514 189,3 227,1 265 302,8 340,7 378,55 (SUS)
(10) (20) (30) (40) (50) (60) (70) (80) (90) (100) 20(100) | 1.00 |10 o
L/min (US gpm) 37(175) |1.24 |1.14 |1.04
64 (300) |1.97 |1.49 |1.09
29 (85°F) il 52 (125 °F)
1:1 2:1 8 411 1 1, 112 102 (475) |2.48 |1.73 1.36
1/4
OCW-*-*-F-30
21 (85:F) (SUS)
20 (100) 1.00 |1.00 1.00
( )= / 2 37 (175) 1.75 |1.68 1.42
64 (300) |3.17 |3.00 |2.34
°C (°F) 10 |13 (16 |18 |21 |24 (27 |29 |32 |35 |38 102 (475) |5.33 |4.50 3.54

(50) | (55) | (60) | (65) | (70) | (75) | (80) | (85) | (90) | (95) | (100)

18 |17 |16 |15 |13 |12 |11 |10 |8 |.7 |.6

27



HWBF

OCST-1* Y~

th
fE2E

OCRV-1 (
OCBW-1-10)
i3
x4
e
i
#fE
; W
LI 30 60
PG, f# (
)
*
5,5 bar Use chart to determine
160% ba_r /| (80 psi) correct size of
340,7 (90) ( Psi) ~a / temperature control
’ / p4lbar - yaive for required
/ / (60 psi)  water flow. Example:
302,8 (80) 77 When 25 USgpm of
water is needed and
T 265,0 (70) /[ / 2gbar Pressureis 10 psi, an
g // / (40 psiy OCRV-1-08-10 valve
> psi)
%] / / and OCST-1-08-10
2 227,1(60) V4 strainer should be
E / / / / used.
1,4 bar
S 189,3 (50 7 4 bar
7 0 /; é / // (20 psi)
151,4 (40)
/;/// // 0,7 bar
113,6 (30) (10 psi)
/_.:
75,7 (20) /i /*
/4 K
37,8 (10) / Z +
0 (O
© 1/2" 3/4” 1"
OCRV-1-04-10 OCRV-1-06-10 OCRV-1-08-10
OCST-1-04-10 OCST-1-06-10 OCST-1-08-10
NPT

28




mm(C )

- E
D S /A N— — T-NPTF( )
‘ _ \
_ — 1T Y
— — ! APENe
3 M N
- - @l —- : Q v
! OO ! J / 125 NPTF U TL
i |l ) O Ol !
12(5 l\)lPTF 1_—i: ' ' ¢
- & - S Al G
= c o Fle L— H——‘
LR- @)
- () DCW1-B-30 125 ( 6 )
A B C D E F G H J
OCW.L.B.30 1035 |2286 |2809 |732 |339.8 |295 |224 |665 |396
» (7.62) |(9.0) |(11.06) |(2.88) |(13.38)|(1.16) |(88) |(2.62) |(156)
' 1463 |2032 |260,6 |57,2 |2588 |10 |38 47,8
OCW-S-2-F-30 (5.76) |(8.0) |(10.26) |(2.25) |(10.19) | (04) |(1.25) |~ (1.88)
K L M N R s T Y, kg (Ib)
714|478 318 |635 |0 96 1.9 1.00-11.5 | 50-14
OCW-1-B-30 | 581y |@.88) [(125) |(250) |(@ 375) |(075) |NPTF neTE |23 (0
841 | 411 |366 |732 |86x127 |26 7514 | 1.0625-
OCW-S-2-F-30 |\ 331y | 162) [(144) |(2.88) |(34x 50) |(104) |NPTF 12uN |20

29



mm (

77,77 + 0,254
50,8 (2.00)2  — ! !
21.3 (:84)— (3.062 + .010)
42,87 + 0,254 38,8 (1.53)
(1.688 + .010) > [ ) ( — )
T ;}L OCW-F-6 only
1500-13 UNC-2B ]—i >
Thd. 1.06 i
4 . — 76,2 (3.00)
— 38,1 (1.50)
- > 50,8 (2.00)
—C ) C — > - »— 101,6 (4.00)
< A - D —» —
v — P —ple— P—> T-NPTF
( )
A e (e _]
7 M
= ON
K i _ _ _ —:: OCW-F-6
L x/
| [ ]/ | J
! | | |la F i /
| ° - IE |
- c - = H -
A B c D E F G H J
. _ 2286 |304,8 |3746 3734
OCW-S-3F-30 | 2land4l (9.0) |(12.0) |(14.75) |732 |(147) |o2 |381 |762 |665
_ _ 381,0 |457,2 |527,0 (2.88) |5258 |[(01) [(1.5) |(3.0) |(2.62)
OCW-S-5-F-30 | 1:1and2:1 150 |ieo | oors) 200
. 2159 |304,8 |393,7 |1045 |396,7 |20,6 |50,8 |1651 |88,9
OCW-F-6-F-30 | 4:1 ©5) |(12.0) |(1550) |@451) |(17.02) | (81) |(2.0) |65 |(3.50)
K L M N P R s T v kg (Ib)
OCW-S-3-F-30 | 1151 |57,2 |485 |97,0 254 |11,2x 190 |26 |1.00-11.5 |1.625- |6:6 (14.5)
OCW-S5-F30 | (453) | (2.25) | (1.91) |(3.82) |(1.00) | (44 x .75) |(.104) |NPTF 12UN  [82(18.0)
171.4 | 1016 |826 |01651 |302 |112 x 254 |3,0 |1.50-11.5 | 2" SAE
OCW-F-6-F-30 | ¢ 75) | (4.00) |(3.25) | (0 6.5) |(1.19) | (44 x 1.0) |(.120) |NPTE | 4-boltfig. | 222 (33-5)

30



mm
¢ BRE AR ONPT | e yqsm | AT
REOWET bar (psi) |°C (°F)
( ) OCRV-1-04-10 | 1/2"
OCRV-1-06-10 | 3/4” 0r088 ) | el o
015,24 <« 152,4 (6.00) —»| ocRV-10810 11 (010125) | (105 to 145)
(O .62) —» -
76,2 (3.00)
=
1
182,6
7.19
162,0 (~ (7:19)
(6.38) ==
| Ry . Model OCBW-1-10
T /
P=]
ﬁ 3/4" NPT L
\\ Wy ¥ 1828,8 (72.00) ok ~| —ai
N e 223 165,1 OC79)
(.88) (6.50)
ANPT  —
A |B c D E
. 1635 [381 [548 ,
OCST-L-0410 | 12" | Zeo | ooy | zase) | U4 | 045 @)
OCST-1-06-10 | 3/4”
889 555 794 | .| 0g00
OCST-1-08-10 | 1" |(3.50) |(2.187) |(3.125)

— ANPT

E NPT

31



e

OFRS GM-120-2-10
GP-120-2-10
0 8bar 10%
27.5 bar
0,23 kg (.5 Ib)
0 8bar(0 120
psi)
LA
bar psi
mm ( )
G M-120-2-10
1/8-27 NPT Brd%
E T
0 51,5
0 56,3 . :
(0 2.22) (0 2.03)
= l
] ¥
22,3 (.88) S ~——0D0310 .12
42,9 (1.69)
GP-120-2-10
38,1 (1.50)
6.3 (.25) ———>{ [« 26,9
(1.06) 1/8-27 NPT
— A
= g:B 0515
T (0 2.03)
" TIEZ 40,6
J (1.+60)
=
é:ﬂ
223 (88) " Two 10-32
42,9 (1.69)
— [0 3(0.12)

32



bar  psi A
0 FGP-2-30 1 F
2-1/2 4 2-1/2" FGP-4-30 ¥
F 4"

( )
iE
i
63.5mm 101.6mm
b
2-1/2 a8 Hfm kR
e (
) 4
bar psi 2-1/2 4
0to 41 0 to 600 GP-600-30
0to 69 0 to 1000 GP-1000-30
0 to 102 0 to 1500 GP-1500-30
0 to 205 0 to 3000 GP-3000-30
0 to 340 0 to 5000 GP-5000-30
-1to+2 —30in. Hg to +30 psi GM-30-30 -
0to 2.05 0to 30 GM-030-30 -
Oto4.1 0to 60 GM-60-30 -
Oto11 0 to160 GM-160-30 GM-160-4-30
O0to 41 0 to 600 GM-600-30 -
0to 69 0 to 1000 GM-1000-30 -
0 to 102 0 to 1500 GM-1500-30 GM-1500-4-30
0to 135 0 to 2000 GM-2000-30 -
0 to 205 0 to 3000 GM-3000-30 GM-3000-4-30
0 to 340 0 to 5000 GM-5000-30 GM-5000-4-30
0to 69 0 to 1000 GM-S-1000-30
0 to 102 0 to 1500 GM-S-1500-30
0 to 205 0 to 3000 GM-S-3000-30
0 to 340 0 to 5000 GM-S-5000-30

33



mm (

+|+ 2(.08)
| M —> T— K
T
—— |
T f N ( T
.
Rl X s
250 NPT | | X — Z N
— C—> -—_—
-~y ——— G.—»
~— C ™ [— Cc—>
- E —
- ]
— 7 A —a— |- —
|
I B 6,3 (.25) l B
N} 3— .
F Al |
— X
250 NPT 10(04) \ T_ 6.2 (24)
3,5(14)
.437-20 UNF-2A
016,5 (0.64)
A B C D E F G
GP-7-30 63 (2.5) |53(2.09) |37(1.46 14 (55) |11 (.43 63 (2.48) 0,34 (.75
GM-30 (2.5) (2.09) (1.46) (.55) (:43) 13(51) |- ,34 (.75)
GM-****_4-30 100 (4) 80 (3.15) 49 (1.93) 22 (.87) |13.5(.53) 74 (2.91) 1,13 (2.5)
GM-S-*+++.30 63 (2.5) |55(2.16) |37(1.46) |14(55) |11(43) |- - 0,34 (.75)
A C H K L M N
FGP-2-30 63 (2.5) 37 (1.46) 62.3 (2.45) |2 (.08) 35(14) |75(2.95) 85 (3.35)
FGP-4-30 100 (4) 49 (1.93) 99.2 (3.9) 35(.14) |5(.20) 115 (4.53) |132(5.20)

34



bar psi

GS-1000-20 |14-70 200-1000
GS-2000-20 | 28-140 400-2000
GS-3000-20 |35-210 500-3000

bar psi
360°
/
bar psi bar psi bar psi
GS-1000-C-20 0-24 0-350 24-48 350-700 48-70 700-1000
GS-2000-C-20 0-48 0-700 48-96 700-1400 96-140 1400-2000
GS-3000-C-20 0-70 0-1000 70-140 1000-2000 140-210 2000-3000

* System pressure uncovers green band (preferred range) first. As pressure rises, yellow (caution) appears, followed by red (unacceptable).
Bands are recovered as pressure falls.

mm( )

0 25,4 (O 1.00)

) T 4 N o s

39,6
(1.56)

37,6 i<  360°
(1.48) >
=
106,4
(4.19) |
Y == :g‘ -
— 250 NPT

13,5 (.53)— - 22,4 (.88)

35



SP-113-C

mm(C )
05,5 (0 .218)
6

«~—————— 117,6 (4.63)

76,2 (3.00)—*

T—T 12,7 (.50)
P —
0826 A= ]
RI= ,
0 47,8
(G (0 1.88)
—] -
(G
0 65 — HH
(O 2.56) —3 T
E T
10mm / B

36



(A ) (B )
A 12 B
mm
A
— M _C.

T —N.O.
22 AWG a
304,8 (12) # —N.C.

1/2 £ NPT _\J /

}

20,6
(:81)

F T

79,2
(3.12) _
| e ——
L' __ 4
Ej | —— 1/8 NPT
— [ 48 (0 1.89) ™
C.. N.C.
N.O.
!
i)
736349 A | 1,7 bar (25 psi) 1-2,4 (15-35)
736350 B 1,7 bar (25 psi) 1-2,4 (15-35)
736351 A 3,4 bar (50 psi) 2,1-5,2 (30-75)
736352 B 3,4 bar (50 psi) 2,1-5,2 (30-75)
736354 B 5in. Hg (2.5 psi)

37

62,7
(2.47)

SW=SW=S)

U

I

9,6 (.38)

| — 157 (.62)

— 1/8 NPT

~— [ 48 (O 1.89)—

- 10
28 Vdc. 10

, 125/250 Vac

HA %~ 5 Amps res.,
3 Amps ind., 28 Vdc. UL listed

5 Amps, 250 Vac
—SDPT

— 40%



	封面
	介绍
	目录
	吸气阀
	球形梭阀
	螺栓组件
	SAE 4 孔连接法兰
	管螺纹方形法兰和折缘管节
	承插焊接方形法兰和折缘管节
	底脚支架组件
	针阀--5000 psig, 1/4-3/4 NPTF 连接
	针阀--3000 psig, 1/4 NPFT 连接

	角阀和球阀，针型和堵头型
	气流式冷油器
	水流式冷油器
	横膈膜型压力表
	低音管压力表
	弹簧式压力表
	储油箱/补油排气装置
	真空和压力开关



